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UM IANUIN
Pmin < Ps < Pmax
Pmin = 14 / ty 1)
Pmin = 14 /2,400
= 0.00583
Pmax = 0.75Pb 2)
Pb = (0.85*270/3600)*0.86*(6120/(6120+3600)
= 0.0398
Pmax = 0.75%0.0337
= 0.0258
Ps = As/bd 3)
As(1- DB 12 mm) = T = 1.13 cm’

= 1.13/10*12.5

= 0.00904

Pmin < Ps < Pmax Ok
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31EMIAIUIN (61D)

Mn = T1*(d - a/2) + T2*(h- (a/2)-(t1/2)) + T3*(h-(s/2)-(a/2))  (4)
a = Asfy + tc*(b + 2t2*(1+ s)) / (0.85*f¢*b) %)
s = Enl (6)
Ptc = K2*Pe(won)”’ )
k2 = (-0.0014VF + 0.0046 V) *(L/D)*(Lf") (8)
rual#
fic = 270 ksc
c(Won) = 400 ksc
& = 1
fy = 3,600 ksc
hl = 7.5 cm
tl = L.5 cm
t2 = 1.5 cm
Lf/D = 65 cm
Lf = 35 cm
Vf = 0.5 %
L = 100 cm
ala
a = 1.98 cm

unua (4) uaz (5) adlu 3) ala

Mn = 53,508 Kg—-cm
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Mmax = PL/6
P = (53,508*6) / 100
- 3210 Ke
= 31.49 kN
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fy
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14/ ty

14 /2,400

0.00583

0.75Pb
(0.85*270/3600)*0.86*(6120/(6120+3600)
0.0398

0.75*%0.0337

0.0258

As/bd
T = 1.13 em’
1.13/10%12.5

0.00904

Pmax Ok

T1*(d - a/2) + T2*(h- (a/2)-(t1/2)) + T3*(h-(s/2)-(a/2))

Asfy + Pte*(b + 2t2*(1+ 5)) / (0.85*fc*b)

Ehl

K2*Pc(Won)”’

(-0.0014VFE + 0.0046VH*(LED)*(Lf?)

270 ksc
400 ksc
1

3,600 ksc

7.5 cm
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tl
t2
L{/D

Lf

unua (4) uaz (5) adlu 3) ala

Mn

Mmax

1.5 cm

1.5 cm

65 cm

35 cm

1.0 %

100 cm

2.13 cm

57,802 Kg—cm

L/3 L/3 L/3
L=100cm
= PL/6

(57,802*6) / 100
3,468 Kg

34.02 kN
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WSuandulen 1.5 %

UM IANUIN
Pmin < Ps < Pmax
Pmin = 14/ fy D)
Pmin = 14 /2,400
= 0.00583
Pmax = 0.75Pb 2)
Pb = (0.85*%270/3600)*0.86*(6120/(6120+3600)
= 0.0398
Pmax = 0.75*%0.0337
= 0.0258
Ps = As/bd 3)
As(1- DB 12 mm) = e = 1.13 cm’

= 1.13/10*12.5
= 0.00904

Pmin < Ps < Pmax Ok
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31EMIAIUIN (61D)

Mn = T1*(d - a/2) + T2*(h- (a/2)-(t1/2)) + T3*(h-(s/2)-(a/2))  (4)
a = Asfy + tc*(b + 2t2*(1+ s)) / (0.85*f¢*b) %)
s = Enl (6)
Ptc = K2*Pe(won)”’ )
k2 = (-0.0014VF + 0.0046 V) *(L/D)*(Lf") (8)
rual#
fic = 270 ksc
c(Won) = 400 ksc
& = 1
fy = 3,600 ksc
hl = 7.5 cm
tl = L.5 cm
t2 = 1.5 cm
Lf/D = 65 cm
Lf = 35 cm
Vf = 1.5 %
L = 100 cm
ala
a = 2.21 cm

unua (4) uaz (5) adlu 3) azla

Mn = 60,202 Kg—cm
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)
L=100cm
Mmax = PL/6
P = (60,202%6) / 100

3,612 Kg

35.44 kN
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